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FINANCIAL MANAGEMENT
| ' Paper.: 3.3

Full Marks — 80
Time — Three hours

ures in the margin indicate full marks
for the questions.

er either in English or in Assamese.

5 S SN Ues - Al |

Answer all questions.

e 2NF Tex faal|

ver the following as directed : 1x10=10
| R Sew fral ¢
IPS is calculated as :

@t @ EPS Fdw o1 = e

Earnings available to preferred and
equity shareholders

Number of preferred and equity shares
outstanding
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investment decision purpose, when

RS T 22 ot

: (beta) = 1, the investment is considered to
WET@W I 2PIT  SgHofag ¢ of average (normal) risk, the greater the
A ic\“iw alue of beta :
4 S ; ; men. e Brares Soere @S B(RGY) = 1 =3,
: C_ll) Earnings available to equity sharehold ffcem ov (FeiRe) Remwsioe IF

" (i) the greater would be the risk and vice
versa.

RoW TSRrel @51 | W% TR [RATS
2T | i

2320 W el ey
2 wtsiE ke SR

(4ii) Profit available to shareholders

Market price per share versa

Rl SERTSl T T O 2N Reide
2w | ‘

@R*fw Aol e

R AfS ey Ty
‘ ' (iii) the lesser would be the risk with greater

(iv) Eamings to shareholders return. :
Number of shares issued to promoter Rom ERTSl W W wfgeew [l
- and shareholders | TR | ;

SRHAQTHT Ao o7

SHHTATE 1% Gopraies) Rivrpe siextofa
LEC) S ]

(iv) the greater would be the return with
lesser risk.

Aoy Row AFRTS! LA IEEaON
Ro1ef (=) |
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(ii) the lesser would be the risk and vice
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(c) Modigliani and Miller in cépi_tal strue
theory argue : ]

Modigliani i Miller-4 e W ;
G G OB 3 |

Market capitalisation is a measure O it
:[aaﬁ’lwqﬁmz? et AR I 8
wealth created by equity.

3930 @ owe T A
(i) that it does not support the net operat

income approach.

' (li) share price indicator of the entity.
RRG e st awre e

AfSHRGIT SHAET T P
~ (iii) market price indicator of the securities.
ool ITT T PF |

] (iv) cost of equity as compared to market
price of the equity.

WWWWW

(ii) that in the absence of corporate tax, t
cost of capital and the market value i
the firm remain invariant to the chang
in capital structure.

ﬁwwﬁﬁﬁmmﬁm bEECi P
TR STl st (AReifRece) e 4
B ﬁ#@“ﬁ @ YoU ARG |
e |

(iii) investors may not have homogeneot

?
- expectations. . el %@m‘ e @0 @R
RGP P! SIRpTall e opie (i) the use of debt to pay dividend.
I

ot ReweR AR | JIREI

(iv) there shall be a uniform tax rate followex
by all firms.

T AV 9T 71 T TN
I @Mt |

(ii) the use of fixed income securities to meet
deficiency in dividend payment.

sonied Rowers qif6 7FeR T T -
1 dfogfes I[N
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(iii) the use of fixed income securities to.
- increase the EPS.

EPS rw qim wi#y

SIS I ‘

(iv) the use of equity to increase the EPS,
- EPS 2pR¥ aicw sqafie IR |

(D) The size of debtors
by its :

\ 3

of a firm is determined

(i) level of sales, credit térms, asset-liability -
mix, ) ‘
Reela sﬁsncf N B, Aoty iRl |

(ii) level of sales, credlt terms, collectlon |
policy.

ﬁ@‘ﬁawﬁwnwm’ AT M e

(iii) level of purchase, credit terms, collection
policy.

TS AR, el 5, 9 sy orﬁﬂfs:
(iv) Both (i) and (iii).

(i) =i=e (iii) Texg
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(g) Dividend yield is computed as :

TEPIN T CHIE (INCH! oAl fRef <5t =3 ¢

(1) Dividend per share divided by the market
price per share.
TeelefS sTeic wdelfe TE W @il
ﬁ?ﬁ@m

(11) D1V1dend per share divided by face value
| per share.

TRHAAS  FTSfIT  SRHAfS W\ﬁs@ W -
(face value) @I Rorem|

(iii) Total -proﬁt divided by EPS.
I e EPS gl Reiew |

(iv) Total profit divided by number of shares
outstanding.

P oo SeReNGTE (I S
ﬂ\wwml

(h) Payout ratio in dividend decision refers to :
sTepiee [ReT Frares ovge (oes SAIce
At PIee P ¢
(i) total earnings divided by number of

shares outstanding.

I I TCE ST IR W
oo |
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outlay with the present value of cash
inflow received after, one period.

6 Pl wwe, RAEite Soix e 2=

(111) profit after tax d1v1ded by market ‘

per share.

i IR 2 9% 4 ST TS A=A
T TEF AR U AT Sl |
TR B [eion | ]

" (iv) the rate that is equal to cash inflow
~ received over a period with total equity
and debt investment.

bl FATIETS, AW q 49 S T
m@www%mﬁm

AT 2 |

(iv) market price per share divided
number of shares outstanding. |

SRS J@N T T Sy 9
7N Rerem | |

(i) Th¢ Internal Rate of Return (IRR) is ;
- OSTEN JAR [Oi e =

- (i) the rate of return received on origi
capital invested in a project. ]
UFH (project) «Bre Frwiftre el

. TR SRS olie IR (ﬁwra) 3

) The relationship between return and risk can
be simply expressed as :

I S RAPTERN TSR Wers 7=F Nivre

“ (i) Return = risk free rate — cost of
(11) the return left for equity investors aff investment.
payment of interest on long-ter STl = QW R
© securities. - : g ® ik o
A

AT efegiey \‘39{2{@ ® wﬁzaen
;?;f)?zﬁ% ﬁﬁmﬂﬁa AR A Tl
|

(i) Risk premium — cost of investment.

RergRNTer e — [RiSceR a3
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Answer the following within 150- 200 words
5%x4=20

S ¢0-300 W’F—‘T\vw © ReNe oisi Tel

(iii) Return = risk free rate + risk pre‘

TE = RemsRIeE 29 '
 AGRAITS! R | E

'
1l

2. Answer the following questions in abl
words each : e 2

.eoc%twfmﬁ*wﬁm@a%cﬁrmw

: Take the following case :

frie case RoEd 3408

Year II
(a) State the objective of wealth maximisa | Year I .
eift SfRPONFR Srel Bra | | edit sales Rs.12,00,000 | Rs. 18,00,000
(b) State the meaning of ‘risk’ in fina , ‘ —
~ management. ' edit to debtors | 3 months 3 months
e «iR_eremE @'—‘ﬁvm’ = f AT eve A | () ((3)
AS < [
ekl : Fmd the average debtors; and show the

» 4 impact of credit pohcy on sales and debtors
(c) State the use of credit policy in the con in year II over year I.

of /workmg capital. 7 , ‘. o R fifa o o 11 329© 1 I Lt
Wgﬁgv{v——\wwmﬁ LWWW@WWWW
SSRISEC| 2 N (aifowem) (el |

Or/3g

Define opportunity cost of capital. How is it
computed ?

(d) State the meamng of accountmg rate '
return.

IR BHITE (accounting) ﬁ'« wief ﬁmf

(e) State the meaning of EPS.
EPS-3 w¢f a1

Opportunity cost of capital = sgeal faan | 2
@ el 0 A ¢
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wer the following questions in about 600

(b) Discuss EBIT — EPS  analysis of ! 10x4=40

, ach x

structure.

AW NI wwSs EBIT — EPS | Yoo R Toose RrFe exg Tes [ ¢
TG .

s the following information in respect of

atidhura Tea Company, calculate the net-
resent value of the two projects and suggest
vhich of the two projects should be accepted
gsuming a discount rate of. 10%.

AT TEFIEe ReRE oA
Sl 551 project S TG IS T ef T Wi
10% 15! «R=RA project YO (FINCH! VT
s oz wof R »

Or/<11

Explain the factors determining the &
structure. |

(c) State the manner of computation of
of financial leverage |

RE leverage =9 S (%) ﬁench ‘
T 4 ~

Project X Project Y

SROEPRERT ; Initial investment| Rs. 20,000 | Rs. 30,000

Describe the various perspectives of fin At
- goals. : | I
goa Pstimated life §'yeiisitl| FIUAD. youls

&8 goal-1 Rfow e Rata scamwal - -
' Serap value Rs. 700 | Rs. 1,200

(d) State the manner of computation of the»
of equity and debt capital. "

23 Wi W ereR E P o
Sl
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()

. Jagiroad Enterprise Ltd. % IR 4]

~ The profits before depreciation

taxes (cash flow) are as follows :

SRR ARG B TS S T TE

~ @r® (cash flow) Resie wid =iz ¢

year 1jyear 2| year 3|year 4|3
Rs. Rs. Rs. |/ Rss

Project X[ 5,000]10,000( 10,000 3,000|
Project Y[20,000{10,000] 5,000 3,000

Or/=12xy

- Elaborate the Modigliani and Miller |

thesis of dividend decisions. Examin
validity,

Terie Rrewom Braie cwae Modigliani

Miller ¥Reii" Racy WWIW
el [Resged 511

From the following information extr:
from the books of Jagiroad Enterprise
compute the operating cycle in day

‘respect of working capital.

feste oy sml SRS o o1

P19 wk<T® operating cycle ffr == g
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od covered‘ = 365 days

M 5= = 365

7 ge period of credit = 16 days
ISP I = 16 W= "

'erage total debtors outstandmg =
. 4,80,000

3 cw <R = 4,80,000 Bl

0
law materials consumptlon = Rs. 42,00,00 '

SN Boicotal
fotal production cost = 100,00,000
TeaAma I
otal cost of sales = 105,00,000
5§ e " :
Sales of the year ='Rs. 160,00,00
Sl

Value of average stock maintained :

iy SregeD AT TV ¢
Raw materials = Rs. 3,20,000

A1 AR
~ Work in progress = Rs. 3,50,000
- efers A
~ Finished goods = Rs. 2,6Q,000
 Besifte WA
m-5) FNMN (15) [Turn over




Or /=21

G1ve a critical analysis of Net Present |
(NPV) vs. Internal Rate of Retum (II

Internal Rate of Return (IRR) :
Present Value (NPV) 1 Wiere @
Rese

Describe any two theories of capital struct

the project accordmg to pay back
10

back %‘1% SRR ﬁﬁm{@ rank iR

Or/=1211

lscuss the investment evaluation criteria for
vestment decisions in financial management.
1 sAfveRe RN Faw aew crae
G194 M=i<pifdq (evaluation criteria)
BTG 4L |

(©

T TR0 R @I 951 5@ 367 3
| Or/sig=i

Describe the scope and functions of finan
management.

ﬁ@ﬂﬂﬁwmwmﬁaﬁ“

Jagan Coal Company is considering i
following investment projects :

Jagan Coal Company-9 s
eFEPTR Reo SR ¢

(d)

Projects Cash flows (Rs.) -
C, e, (L
A -10,000] + 10,000 -
B —-10,000| + 7,500] + 7,500
C —10,000{ + 2,000 + 4,000
D —10,000] + 10,0001 + 3,000
~ 3/4(Sem-5) FNMN (16) 5) FNMN (17) 15000(W)




